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QUESTION 1

Which type of numeric value does a logistic regression model estimate?
A. Probability

B. A p-value

C. Any integer

D. Any real number

Correct Answer: A

QUESTION 2

What is Hadoop?

A. Java classes for HDFS types and MapReduce job management and HDFS

B. Java classes for HDFS types and MapReduce job management and the MapReduce paradigm
C. MapReduce paradigm and HDFS

D. MapReduce paradigm and massive unstructured data storage on commodity hardware

Correct Answer: A

QUESTION 3

What describes a true limitation of Logistic Regression method?
A. It does not handle missing values well.

B. It does not handle redundant variables well.

C. It does not handle correlated variables well.

D. It does not have explanatory values.

Correct Answer: A

QUESTION 4
You are testing two new weight-gain formulas for puppies. The test gives the results:

Control group: 1% weight gain Formula A. 3% weight gain Formula B. 4% weight gain A one-way ANOVA returns a p-
value = 0.027
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What can you conclude?

A. Either Formula A or Formula B is effective at promoting weight gain.

B. Formula B is more effective at promoting weight gain than Formula A.

C. Formula A and Formula B are both effective at promoting weight gain.

D. Formula A and Formula B are about equally effective at promoting weight gain.

Correct Answer: A

QUESTION 5

Refer to the exhibit.

You are building a decision tree. In this exhibit, four variables are listed with their respective values of info-
gain.

Based on this information, on which attribute would you expect the next split to be in the decision tree?

Attribute Info-Gain
Age 0.0310
Income 0.0100
Gender 0.0034
Credit Score 0.0456

A. Credit Score
B. Age

C. Income

D. Gender

Correct Answer: A
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